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Evaluate the limits:(
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Find the derivatives d—y of the following: (&1 %4 74)
o
(a) y = e cos(x)
(b) y=(1+2)

(c) y = /11 tan(¢® + 1)dt.

' d
For the equation sin(y) —cos(z) = sin(y) cos(z)+1, find d—y and the equation of the tangent (47
%

B) at (7, ). (10%)

Find the absolute maximum and minimum values of f(z) = 2% in [0, 00). (10%)

Evaluate the following: (4% 79")

(a) /<§+;:—3+53:>d

3x2+4
VI3 + 4z + 13

(c) /a:ln(:z:) dz.

(d) /loo zil) dzx.

//ey dydzx.

Find a power series (%4 %) for f(z) = sin®(3z), centered at 0. (10%)

(b)
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